F23RMABFFRT_AKRE HNEEHER FF SHb—F AV EFRISVUERG

1 mAEdl | &K
. et
2 mEF =%
mER | 4—1
s 5—0
3 AERL | 58
fEl&dt
3—2
4 BEd | &K
B It
4—1
5 ¥4l =5
[El&t
3—1
6 JIFEBAIE | B
1| FE B I
5—0
7 BRIBET | &
FIFER
. 3—1
8 YT =A% _
FIXE
ey 3—2
9 TIEHR =5
e e BEFEA
10 | FEPRF |&KR i a
RERE 3—0
4—1
11| KERE | &K _
HELRE
3—2
12 FHt =
HI%J%
3—2
13 BeE =
BFEA
3—0
14 BEFEE |5
BFEA
3—2
15 AEm | &K
BFEA
3—0
16 BEE | &K
FH
s 5—0
17 Bk dtic] =A%




F23ERASEFRT-AKE XTEEED AR T
R1
= srf mFEA 5—0 FEEHL
D1 LE-#FA 6—1 HL-EE
D2 EE-1EH 6—2 Zith- 21
S1 =oTi] 6—1 g
s2 BXR 6—1 Al
S3 [iicE ) 6—0 B
2R
A JIIF5ERIE 5—0 BT
D1 I - AN fk 6—1 1208 - B[R
D2 CIES LN 6—0
S1 Vo 6—2 Ha
S2 i 6—0 BB
S3 Ea 6—1 N
2R
FR4A FEREhE 1—4 HERS
D1 WMFHF-FAR 2—6 FHE-FA
D2 3T -4 6—2 AHE-LA
S1 = 2—6 ZEH
S2 B 3—6 =]
S3 0—6 &t
2R
=3 s BEA 3—2 HAER
D1 M -mE 4—6 E-kO
D2 TZH-B 6—3 Bl & SEF N
S1 Fik 3—6 1L
S2 zII 6—3 B
S3 K1l 7—6(6) =

BF 51 —4 FRISUREE
2R
PR A 2 1—4 Eigdt
D1 7L ‘_:Z":l’;ﬁ”" 3—6 Hig-EO
D2 AER-FI 1—6 B - LU
S1 O 6—3 IR
S2 = 2—6 K&
S3 BH 3—6 Rl
2R
A BT 2—3 FIFHE
D1 i) R Sy e 1—6 AE-It1E
D2 HEHT-HEE 6—0 FH-ZHh
S1 =H 4—6 ThR
s2 =/ 6—2 VAV, W N
S3 =211 4—6 N
2R
= s FEFHE 2—3 BE
D1 WTr-EA 1—6 g - =k
D2 LA-#a 4—6 RE-= 5
S1 [R5 6—4 Rt
s2 el 2—6 ®
S3 ESYN 6—2 f55ER
2R
=k S eSS 0—5 R
D1 AHE-EE 0—6 = [ - 75 E
D2 JIER-# £ 0—6 [ R
S1 1TE:N 2—6 iR
S2 B 0—6 R FE
S3 0—6 FE




2R

=k S mEd 4—1 LikEikas
D1 YERE - FTHR 3—6 LR -%H
D2 BEEK 6—3 mik-1EH
S1 LL1 15 6—0 ==F;i7)
sS2 Fa 6—4 FAY:N
S3 = 6—3 [iig o)
3R
=k S [if=g| 2—3 =Y
D1 Rxk-HBa 6—4 BE-EO
D2 - JERE 3—6 HhE- 2
S1 A (5)6—7 IR
sS2 LI 0—6 X5
S3 ha 6—3 (2253
3R
=k S HRERE 3—2 BE
D1 KA-E+ 1—6 FE - E 5}
D2 MA-LAO 2—6 RE-= 5
S1 ZH 6—1 Rt
S2 =l 6—0 skl
S3 #E 6—1 ®
HER B
=k S HRERE 0—3 BF7
D1 KH-E# 0—6 M -0E
D2 FMA-LO 2—6 SH-B
S1 ZMH 0—6 1Rk
SZ ﬁmﬁ *T-BtJJU ?“I
S3 #E LY K

3R
=k S BFF 3-0 E:p i)
D1 -2 6—2 i -7l
D2 EH-E LY B E - B
S1 FEk 6—1 =
S2 =) 6—0 PR
S3 skl THHY +m
3R
=k S JIIFa B IE 1—3 EXY
D1 I - Jn & 1—6 RAK-FH
D2 BIEF - 11 LY A -EH
S1 17 3—6 R
S2 At 7—5 gk
S3 EA 2—6 Je1&
HER B
=k S =Y 3—1 EXy
D1 BE-EO 5—7 REAK-FH
D2 B - L 7—5 MHA-AH
S1 FIR 7—5 TR
S2 KI5 6—1 &
R 1—1
S3 stE TH Y i
R
=k S =Y 0—3 BF7
D1 E-EO 2—6 MaF-0E
D2 B - L 5—7 HH-8
S1 FIR 1—6 1Rk
3—5 -
S2 KiE TEYY =)
s3 it 3—4 KL

T541Y






